(4)
9. Maximize:Z=-3x —-2X
subject to :
X, +x,2 1,
X +x, <7,

by using dual simplex meth
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MATHEMATICS-111
Paper-Math-201-F

24022

(Graph Paper)
. Tech. 4th Semester (BME) Examination,

[Maximum marks : 100

Note : Attempt five questions in total, selecting at least

one question from each section.
compulsory.
1. (a) Finda forf(x)=x-x2 -1<x<l.

(b)
(c)

(d)

2. (a)

24022-p

Define residue at a pole and state Ca

theorem.
Minimize : Z=20 X, + 10 X,

subject to :

n+x for —-m<x<0

r 0<x<m "

Q. No. 1 is

Examine sin z is analytic or not analytic.

juchy’s residue

-4-Q-9 (16)

[P.T.O.



24

(2)
(b) Obtain halfrange cosine ser
f(x)=x, O<x<£,
2
= T ex<n
=T X, 5 .
Solve :
ov o’
—=k — fi >0,t>0
ot ox” orx
condition
condition V=0 whent=0, x> 0.
Section—-B
(@) Iftan (0+i)=cosa+is
prove that :
6 - ?_E + IC_
2 4 2
(b)
(a)
(b)
1022

s V=V whenx=0,t>0 and the initial

andq):l log tan (£+92£).

24022

ies for

under the boundary

ina=e“,

4

t

c

(z)=/|xy| isn
ough C. R. equations

cgral theorem.

W

“isthecircle |z | =

6 (a)
(b)
7 (a)
(b)

(3) 24022
Section—C
Find the series expansion of
f(z)= ——f:;l—— about z = 0 in the region
z+5z+6
@) Jz]<2
(i) 2<|z|<3.
Evaluate :

{>C tan zdz, where C is

Prove that the total area
curve is unity.

A factory has two mach

show
of ot
items
mach
mach
draw

produced by machine A ?

itput and machine
5. Further, 2% of
1ine A were defect
ine B were defect
n at random, what i

’s that machine A produced 60% of th

Section-D

8.  Verify whether binomial dist
from the data given below :

the circle | z | = 2.

iines A and B. Past

B produced 40%
" the items prod

l’)

X

0

11241314

f

13

25152 |58 |32

16 | 4

24022

under normal probability

record
e items
of the

ced by

ive and 1% produced by
ive. If a defective item is
s the probability that it was

ribution can be assumed

' T.0.



